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Question Label : Multiple Choice Guestion

Which of the following High Courts established the first Green Bench in the
Country ?

M1 S el § 9 e 59 H HaueE A9 d9 @i o o

Options:




Calcutta
1 r:l"' o Ii-.I

Madras
N e

Allahabad

Bombay

Question Number : 2 Question Id : 5431077929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

Who among the following is the author of the book "Of Law and Life” ?
= # O 19 SiE o US dEw @ OWd B
Options:

Justice V. R. Krishna Iyer

Justice A. R. Lakshman
o o Uo 3fNo FeHIH

Justice ]. 5. Verma
, O NTH Slo UHo T

Justice ¥. V. Chandrachud
, VINCH dle dlo TS
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Cuestion Label - Multiple Choice Question

The first Anti-terror legislation in India was :
ARG H ofce AR 92H S I oy ?
Options:

POTA
P Hodffotioto [ﬂ'l‘ﬂfl




TADA
5 TloToEloTo (TTST)

FERA
= QTEOEEOETRTOQO

NIA Act
y THodEeTo AfHHaH
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Cesticon Label ;- Multiple Choice Question

Indian Law Institute (ILI) is located in :
FIRGTT fafie H¥er @i e
Options:

News Delhi

Shimla

R

Bhopal

Hyderabad

NI
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Cuestion Label : Multiple Choice Question

The National Legal Services Authority (NALSA) was constituted in :
e faferes dar wiferenyor (ATeldn) &1 e @Y g1 ?
Options:

1995




1990
4,
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Couesticon Label ;- Multiple Choice Question

According to the General Clauses Act, "Month" is to be reckoned as per :
STYe FeTold AT & AR HEET fhad SR 99 B B 7

Options:
Saka Era

, I U

Julian Calendar

5 ST BIASY

British Calendar
. faoq doiey

Vikram Samvat
4 TP Haq
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Cestion Lakel - Multiple Choice Guestion
Sovereignty under Indian Constitution hell:mgz to -

ARG G 4 TRl fEd ord 2 ¢

Options:
President of India

AWA & i

Parliament

21\\."1

People of India
2 NG & N

Judiciary

::I ;.:l fll |l:f t':I:.'
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Speaker of Lok Sabha is appointed /elected by :
AMHEAl @ HegE & e / g [BEs gRT 8 8 ?

Options:
President

L"-\.l";.: E

Prime Minister

. }'l;::l-l:lj:'—:ﬁﬂ
Members of Lok Sabha and Rajya Sabha
o CATHHT R ISTH9T & AG@l g

Members ot Lok Sabha only
y TU A & FEwl g
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Cesticon Label ;- Multiple Choice Question

The age of retirement of High Court judges is :
Foe ATl @ =TT @l Hargn @ 3 2
Options:

62 years
, 627

o4 Vears

2_6—}31"5{

6D years

e I_"
= o> dY

No age limit
4 IS MY GHAT TE
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Cuestion Label @ Multiple Choice Question



When a person is prosecuted for committing a criminal offence, the burden of
proof is on :
g o =fo 1 ATORIES e &9 & (g Aeala (e ol 8 o Mg )
frg W BT 7
Options:

Himszelt
| 9 @

Prosecution

: y

Court

SWW

Police

4 JOH W
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Cesticon Label ;- Multiple Choice Question

The examination of a witness by the party who called him is called :
UErRTY OTE U §RT gl T TarE W URIET $HYal 8 °f 99 $H—ul Ul wed 8 ?

Options:
Cross Examination

;T e

Examination-in-Chief

o T TR

Re Examination
5 T ONIET

None of the three

4 T H W BIg e
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Question Label : Multiple Choice Question
The first Attorney General of India was :

NG & Ugol HEFATEAE] B 9 7

Options:



Nani Palkhivala

I IECACIE]

1.
M. C. Setalvad

> THo ¥lo HITedrs
M. C. Chagla

5 THo Hlo T
Subbarao

, AR
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Which one of the following is not a transfer of property :
=1 8§ ¥ SIF—1 FURl SN FeF € -

Options:

Will

Gift
o Gl

Exchange
=3 EI'| TR =

cale

\.'_E&J\.:l
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Cuestion Label - Multiple Choice Cuestion
Caveatis:

o

didc & .

o

Options:
Writ
1 :. ] |-.Eq f:I:;



Certiorari

5 EERII gy

A warning

An injuction
4 S TR
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Couesticon Label ;- Multiple Choice Question

'Stay Order’ has the effect of :
Options:

Status quo
, e Rerfa

Prorata
o HI RIET

Stuppiﬂg an order of lower court from execution
(Feell JETad @ e & Sgarer &l Dl

=1
Sine die
, AR 1o
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Cuestion Label - Multiple Choice Question

An order of a Court pronounced on the hearing of a suit is called :

a1 G & a8 ~ORed g1 foal T ST dEdd ©
Options:

Dehor
1 hur | _\"kr

Degree



Decree

3 L

Deed

-4.?:?]E
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Juestion Label : Multiple Choice Question

Innuendo hints at :
gehifdd 9 T%aYd B

Options:
Insinuation
| STE

Defamation

—

Conversion
3, HUIERT

Trespass

4llﬁrx
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uestion Label - Multiple Choice Cuestion

Which one of the following is not a part of Alternative Dispute Resolution ?
M= H 9 BI9—4dT ddbfedgd fdarg Mawo &1 977 78 2 ¢
Options:

Arbitration
| HEIREre
Litigation
o -a'.."'1C 3 G|

Conciliation

o2 Lo B B



Mediation

N . W

Sl
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Cesticon Label ;- Multiple Choice Question

Husband and wite have a right to each other's company. This right is called :
afa 97 &1 TH -ré\q& P T BT IAEFER B

Options:
Legal right
, falgs sfaer

Conjugal right
HE IR CA

Matrimonial right
dare® affear

Consortinm richt
o
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Cuestion Label @ Multiple Choice Question

Private International law 15 also called :
et siav g fafg = 9= 9§t 91 9 8 7
Options:

Civil law

| fafr fafy

Conflict of law

Local laws

Common law

, e it
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The Constitution of India recognizes :
Options:
Only religious minorities

Only linguistic minorities

= T f . .
= HE HTETE HATHET R o

Religious and linguistic minorities
5 HIHE Td A SETHEIEH] B

Religious, linguistic and ethnic minorities
o, T, AT OE A STt P
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Question Label : Multiple Choice Question

In which of the following system of government distribution of powers is an
essential feature ?

AR H i Jumel H | wrfdadl & faaver fhadt siear e g 7

Options:

Parliamenta Y system

, T e

Presidential system

5 ERTE SRl

Unitary system
3 tgr:}'argu IR

Federal system
4 EZI-'r, 4 o]
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Cesticon Label ;- Multiple Choice Question



Which of the following statements is correct about the Vice-Preszident of India ?
IRT & SU-Iedfd @ ax A FEfafag suei § a1 g8t © 2
Options:

Elected by Rajva Sabha

, ST AT T et

Ex-Office Chairman of Council of States
o XTSI WA BT TR AT 2

Elected for six-year term
W a9 @ HIE ® (o A

3

Presides over the Joint sitting of two houses of parliament
, FHS @ T WGl @ HYIT Al Bl ST P ©
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Cuestion Label - Multiple Choice Cuestion

The Right to Information Act, 2005 primarily helps in :
Yo &1 HTHR HATH, 2005 w0 TSIl Bl @ ¢

Options:
Legal Reforms
, BT QR A

Political Reforms
, NIorifa® Far 4

Social Integrity
ATaTE Sgvsar §

B

Transparent Administration
4 :l "ﬁ"-1:‘i :4\.] x,;-;rﬂ. ﬁ
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Juestion Label - Multiple Choice GQuestion

To seek the services of a legal practitioner of his own choice is guaranteed as a
tundamental right under :
HIA THT & AEaad @ A o ] difcd AfEEN fGgr T # s




Options:
Article 21 A

g 219 H
1.

Article 22(1)

, I g 22(1) H

Article 394
=05 395 H
iz a

Article 32

dgzog 32 H

4.
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Any charge for impeachment of the President in India may be preferred :
HRA H WAl UR "SR =er & ford SR S S

Options:
Only in House of People

I_WEﬁTﬁWﬂTﬁ

Only in council of states
o> dc] Ny WA H

Only in a joint session of Parliament
el WHG & Hgdd 9 H

3

In either House of Parliament
4 HHE & fHd 9 HeT H

Question Number : 27 Question Id : 5431077954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Juestion Label - Multiple Choice Cuestion

The Fundamental Duties are confined to:
HAife g1fac Wifid 2
Options:
Citizens of India
, URA @ ARG & o




All persons present in India including juristic persons
- WG & qd afee, forad fafere afdg e € & o

Both citizens of India and all persons present in India including juristic
persons
YRT & AFNGI & [0 991 9nd & o4 afdal, oy foftes afea e €

Neither Citizens of India nor all persons present in India including juristic
persons

A O IRa & ARG & ol 3R 9 @ aRa @ 9 afaadl, o afgs afad
miHEe & & or

4.
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Who has the power to diszolve the House of People ?
Options:
The Council of Ministers

1 aRwe @

The Prime Minister

o PEIGEEIRGT]

The Speaker of House of People
5 T T SfETET B

The Prezident
4 ﬂt;'*-i -HE. El'ff
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Safeguarding of Forest is insured by which Article of the Indian Constitution ?
RO Hia @ 9 =i 4 a9 guen ol giHrdaa fear a2 ?
Options:
Article 47
| TG A7




Article 43

2 \:Fﬂ TI:E “n -.i:S

Article 43A
- TTTT 48T

Article 43A
4 TR =g 436
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Juestion Label - Multiple Choice Cuestion

Point out the mizmatched pair:
BH g7 B 3RTT BT

Options:
Right to Education — Article 21A

, e @1 PR — ST 21%

Right to Life — Article 21
o SiaT W AR — T 21

Prohibition of employment of children in factories, etc. — Article 23
5 BRI e H grerdl & e ) ukivg — sgwE 23

Abolition of titles — Article 13
, SO &1 8 — 3req 18
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uestion Label - Multiple Choice Cuestion

Which is the only State in India to have the Commeon Civil Code ?
R &1 98 DI oy & forad W AiNe digdr @ 2 7

Options:
Uttar Pradesh
1. \-EE % ';.E::‘-

National Capital Region
o T T AL 8



Nagaland

|:r o,

4.
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Who can take part in the proceedings of Parliament without being its member ?
ffl.'*. Ho ﬁﬂ e pE ?ﬁl r:‘ildi—?lfﬁ 'FI |F-1|L-||'i-r',|r,:;g I[ fl’;llﬂ. HIAT F[ ] 1_:' ?

Options:
Attorney General

B-dTHdlG

Comptroller and Auditor General
5 Mas@ Ud Aseidl UNIEH

Chief Election Commission
, T FFrares ST

Chief of the Army Statf
, T e
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Juestion Label - Multiple Choice Cuestion

National Voters Day is celebrated on :
W Hearal fad| HAT i @

Options:
January 25

] w=axl 25

January 26

5 U_‘|'_‘|’:|:é 26

November 26
5 IR 26



December 10
4 Ted=R 10
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Cuesticon Label : Multiple Choice Question

The minimum age for contesting Rajya Sabha election :
O—8HT 1A A ® [ g Ay 2 ¢

Options:
21 year
21 a9

30 vear
30 99

35 vear
3h 499

25 year
25 af
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Juestion Label - Multiple Choice Cuestion

The Chiet Election Conmumissioner can be removed from his office by the :
H TATd A B IHD s H TN ol Fahal ©

Options:
President of India
L & IO g

Impeachment through Parliament
q9E SN Hed9arT 7®

Supreme Court

GTmidHa e glix]




Prime Minister
i TETHH BRI
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Cuesticon Label : Multiple Choice Question

The repository of constitutional trust is :
[TILTS <ITH & WA &

Options:

President

1. 5 j

Chairman of Rajva Sabha
o NI HHT ] HedE

Speaker of Lok-Sabha
ATH—THT JFee

Chief Justice of India
G BT T =TT
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Juestion Label - Multiple Choice Cuestion

"India, that iz Bharat, shall be a Union of States”, is provided in following
provisions of the constitution of India :

‘fegwE, 91 T 9IRGB, I & 99 B, & UEgE 9@iegE @ e g |
F=

Options:

Article 1(1)
1.

. Article 14

Article 240
=,

Article 124
4,



Question Number : 38 Question Id : 5431077965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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ouestion Label : Multiple Choice Question

Under citizenship Act, 1955, which of the following can be a mode of
acquisition to citizenship in India ?
AR JAfETE, 1955 & awa9d, 9 5§ $FE—a1 3@l 9°d 8§ AFTRGal 97
Tl @ o1 SR fhar o &1 © 7
Options:

By birth
1 o ¥

By descent

5 FARIET

By nationality
= ST gIdl

Both By birth & By descent
, T Y T FGREN ° S0
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Cesticon Label ;- Multiple Choice Question

LA

Which of the following i
Constitution ?

R Hiags H = § B g AbER T8 2 7

not a fundamental right under the Indian

Options:
Right to equality

1 AT T RN

Right to freedom of religion
5 9 Wi 1 AR

Right to property
5 THIRT @1 SRR

Right against exploitation
” e % favg JfEen
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Question Label : Multiple Choice Question

Which of the following falls in the category of Fundamental duties under the
Indian Constitution ?

NG WIET & A= e d A B ged Bl B A H A § 7

Options:

to abide by the constititution and respect the national flag and national
anthem.

AIgEr BT Urel HAT G207 MG e T41 g Aid B A DYl

to defend the country
, T BT YT BT

to sateguard the public property
AT TR B GRE HE

all of the three
GG EEE
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Juestion Label - Multiple Choice Cuestion

Directive Principles of State Policy are contained in which group of Articles of
the Constitution ?

-
L}

IS & Aifd Moz fagr |iaus & e sigeeel @ |§HE H 9ieied § 7
Options:

Articles 36 to 40
-

Articles 36 to 45
2.

Articles 36 to B0
=

Articles 36 to 51
4,
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Cuestion Label : Multiple Choice Question



Which of the following is an incerrect statement about the governor ?
TSI & Hed § -9 $UF FGT E 7

Options:
Governor is appointed by the President of India.

5

VreuTe @1 MR Il gNT # WRh E

1
Governor administers oath to the High Court judges.
o TS ¥ e @ SATAEEl P 9 T8 heT @ |

Governor iz the executive head of the State.
, T @ TETE T JREar e Bl @ |

Governor may impose President rule in State.
o, SO0 H TSI ISR AN AN Y H 2
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uestion Label - Multiple Choice Cuestion

The Indian Constitution provides for the following kinds of emergencies :
Options:

Emergency due to war, external aggression or armed rebellion
, & A A Sperdr Aw R & wwr S et

Financial emergency

Administrative Emergency
= e qul IEIGEARE]

Emergency due to war, external aggression or armed rebellion and

Financial emergency

qg, 9edl HAY HYal HiHe fdgre & SRy U Refd den =iy s
4 Tld
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Juestion Label : Multiple Choice Question

Who, among the following, had the longest tenure as President of India ?
A § T 59T Brasid 9Rd @ WUl & S § Taigd el 8 v




Options:
Dr. 5. Radhakrishnan

. Sfo To IETHEH

Dr. Rajendra Prasad
_E:[-Q , "-it;g .'-'EE L=

Dr. A P J. Abdul Kalam
5 Sfo Yo lo Wo 37ege Held

Shri Pranab Mukherjee

o 2 v gl

Question Number : 45 Question Id : 5431077972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Juestion Label - Multiple Choice Cuestion

Which of the following State has minimum representation in Lok Sabha in
India ?

qd | e 9 ¥ g o & gfaffee 999 &9 8 7
Options:

Arunachal Pradesh
| ST o9l

Himachal Pradesh

o TeATEe Haw

Chhatisgarh
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Question Label : Multiple Choice Guestion
Which of the following High Courts in India were established in yvear 2013 ?
a4 2013 # ARG H o1 enl 9 9ea el ) @Y gy 7
Options:
Manipur, Meghalaya, Tripura




Manipur, Meghalaya, Uttarakhand
o AMIIR, HEMeTY, STRIETS

Manipur, Tripura, Tharkhand
AfUTgY, 59, SIREve

=

Meghalaya, Tripura, Chhatizgarh
HeTerd, 3R, BxiiaTe

4
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Juestion Label : Multiple Choice Question

Union list, State list and Concurrent list contain the following number of items,
respectively :

i

5 i i " AT fu b i .
h=ld I, X I AT AN I H HHEE 7 Hg ' -

&

Options:
. 90, 97 and 49

. 97, 66 and 47
. 66, 47 and 97

4 97, 66 and 42
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Juestion Label : Multiple Choice Question

The maximum number of times when President's rule has been imposed in
India was in the State of :
WA H Sferrad 9 I dia 9TES o T T E e e H 7

Options:
Bihar
;, TeEm

Karnataka



Manipur

—

ik 3

Uttar Pradesh
4 9<% USoT
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uestion Label - Multiple Choice Cuestion

10 percent reservation in jobs and education to economically backward section
in the general category has been provided by which amendment to the Indian
Constitution ?

G T @ AN E w9 W HAAN U B GXER] ATsNdl aur e gemsit ¥
10 HIHE! ARV HWigaE § SF—4 WEE §° War fhar T g 7

Options:
103rd
) 10347

125th
12547

123rd
12347

77th

el
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Couesticon Label ;- Multiple Choice Question

Which of the following are Committees of Parliament ?
= H W - ddeg wAfa g v

Options:

Public Accounts Comumittee
: AT ofdT 9iaid

Comptroller and Auditor General of India
o ARG & HElerdl WIEH




Both Public Accounts Committee and Comptroller & Auditor General of
India

o

5 I ofEl FHAR T YRd © Hereldl Wes g

Neither Public Accounts Committee nor Comptroller and Auditor General
of India

0 s L 1 2 T 1 S R R B B R B A R R 2
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Cuestion Label ; Multiple Choice Question

The power to incdude or exclude a caste in the Schedule under the Indian
Constitution lies with :

IR |G H B ST @1 Sga 4 39 a1 9 Mare $f wied [fed @

Options:
Preszident

s

1.

Parliament
E I b E'|

State Governor

) v s Tl U 8 P

State Legislature
4 YT fagm= 941
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uestion Label - Multiple Choice Cuestion

If a person is not a Member of Parliament and is appointed as Minister, then he
should get elected to either of the House of Parliament within :

gfe ®IE Afad HHe B Ged 78l © 3R 9He! Al @ w0 H [Hyen ex fean o
¢ af S9! Hug @ Yl 9gq & o Maifaa 8 S @2y

Options:
One month

1?55%?5:#?".\

Three months
o Wi HIE & <N



Six months

One Year
, UP T B S
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Juestion Label : Multiple Choice Question

Principle — When a person gives consent for anv act to be done by another,
such person cannot claim damages arising out of the act done provided the
act done was the same for which the consent was given.

Fact — P’ gave consent to a surgeon 'S’ for the removal of appendix. While
removing the appendix, '5' removed Gall Bladder also.

qeg — 'P' | edfaickbedsd 'S & U fafigg weafa amufrewsicw & &g oo fam
g We & vien fafecas 9 weufha dvd gy P @1 e A e
fora |

Options:

'P' can claim damages from 'S’

'S | kR AT (e gﬂ] @1 g1 P &Y GET ©

' iz not bound to pay the expenses for the surgery
PuafFmerEd e & o0 ang 9851 8

'P' shall pay for surgery of appendix but not for the removal of Gall
Bladder.

5 P HufSHTEied & ued fhar &1 WEl o g e & AE

-

'P' cannot claim damages from 'S
'S' | JHE FT gET P AR PR HEHl €
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Couesticon Label ;- Multiple Choice Question



Assertion (A) — Under article 253 of the Indian Constitution, the Parliament can
make any law on international subjects, irrespective of the fact that the
zame item falls in the State list, Central list or in the Concurrent list.

Reason (R) — The Wildlife (Protection) Act, 1972 iz one of the examples of this
practice.

BYF () — I AN WU & AgTen 253 & G 6EE sy favdl ™
w5 4 Al o7 9 2, 39 99 @ g0 3¢ 9 6 98 fAww v g, &
Al A7 HEGA g 5 A 2

FRY (AR) — AN T Sl (GeE0T) AfIHad, 1972 39 U & Uh gerd ¢ |

Options:

Both A and R are individually true and R is the correct explanation of A

, & Ud 3R ST qafdae B9 W 9l 8 Ud AN, o @I WEl A 8

Both A and R are individually true but R is not the correct explanation of A
o, ¥ Ud AR S dUfeE 9 G 9el § Al AR, 3 $) 98 A 76 2

A is true but R is false
. 3 TE & oifehT 3N Teig 2

A is false but R is true
, I T 2 oifth] 3N 92l &
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Cuestion Label - Multiple Choice Cuestion

Assertion (A) — National Green Tribunal Act, 2010 establizhed Green Tribunal
as a specialised environment tribunal to settle the environmental cases and
matters etficiently.

Reason (R) — National Green Tribunal is a Writ Court and can decide
fundamental right violation cases in relation to environmental accidents
and matters connected thereto.

FYF (H) — F WA ERT AR AfEfEE, 2010 T FRT AHET BT WOTAT ThH
faRTiigre UgrExyl AHERT & WU H WPV 916l U4 HEEl B UHEEe] g
Y g o= & fow fear 2

PROT (AR) — AR VR BRd AW T AfGs] FEEd & AR Gaieaweig
eIl Ud 399 wEiad JFdl @ g H O Allds Ja@R Seaud &

Options:
Both A and R are individually true and R is the correct explanation of A

| B & Ud HN dAfde w9 9 HEl § U9 AR, 3 B HWel Are) @




Both A and R are individually true but R is not the correct explanation of A
o GHl 3 Td 3R Jafeae w9 § 9l 8 oifthy 3N & 9 TEl ANEn A8l B

A is true but R is false
2 a1 T&l _Er eifch &9 Te1d _%'

A is false but R is true
4 & TTEAd € oI AR e B
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Juestion Label - Multiple Choice Cuestion

Assertion (A) — When two or more States request the Parliament through their
State assemblies to enact a Central law on any State items, the Parliament
may do so under Article 252 of Indian Constitution.

Reason (R) — The Water (Prevention and Control of Pollution) Act, 1974 has
been enacted by Parliament under Article 252 of Indian Constitution.

YT () — 3 T T AT AR T WG GG W I T QAR @ A
HHE WY Hia9d @ 3e0s 252 & ded UHl Y gl ¢ |

BRI (AR) — N T (Uguu Fawer vg =) Jfa=og 1974 9H" 992 g™

Options:
Both A and R are individually true and R is the correct explanation of A

Both A and R are individually true but R is not the correct explanation of A

Sl 3 Ud o dufdki® w9 O Ual ©§ olfd SR, & & Wel Al el &

A is true but R is false
3 GE £ oifeh AR 7Td 2

A is false but R is true
4 H T £ oifh 3N el &
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Cesticon Label ;- Multiple Choice Question



Principle — Marriage is not valid only by mere exchange of garland.

Fact — 'A’' and 'B' married through exchange of garland and got their marriage
registered by furnishing affidavit.

fagra — 91T 919 @ JEFE-9aE | fdae fafta: faae =8 2|

e — 31 U9 § - A6l @ Mem-9ad | [aE f&ar siR o9 fJarg &1 golieyol
IOUH & JHTER U¥ B |

Options:

Marriage of A & B is valid even without registration

1aqﬁamﬁﬂﬁﬁETéa1%ﬂGﬁ?mm=riﬁ§3ﬂ€r

Marriage of A & B is not valid because it was by exchange of garland
3 U9 9 @I g8 99 F2] & 9Uife I8 9 91 & AGH-UgH 9 §

Marriage is valid by exchange of garland if registration is done
qIe] & e YsH ¥H fFaE [GEEm @ afe uelieyor g 8

Marriage is invalid even if regiztration is done

, (G018 S7dE & A SleRvT g A
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Juestion Label - Multiple Choice Cuestion

Principle — Attempt is an inchoate offence under Indian Penal Code, 1560.

Fact — A with an intention to steal some rupees from the pocket of B, puts his
hand into his pocket and unfortunately pulls the trigger of the gun causing
B's death.

g — 4Ry gve Higd, 1860 & i UIe1 U S0 Uy 3 |

T — o |9 VUG YU AN § g & o H 2 STedl 8 U [l B arel
a9l ool ¢ fogd 9 &1 5¢g & Wl = |

Options:

A is not guilty of any offence
| 3 TRy Sqovrer b7 STl T @

A is guilgy of attempt to thett
o TN TOe] & AR HT T B

A is guilty of committing murder of B
3, g DI U] BT B B Sl B

o



A iz guilty of both the offences of attempt to theft and murder
3 SFT STNTHT BT U9 AN & UUo] @ Sl 8

4
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Cuestion Label - Multiple Choice Cuestion

Principle — Mere agreement to commit an offence is conspiracy.
Fact — 'A" and 'B' agreed to kill 'C’ but no act was done towards causing the
death of 'C".

s — I SN T BT BIN qE g2 B
T — 'C' $ §og HINd &3 & o 'A' 3R B’ ¥8Hd B 2 |

Options:
'A' and 'B’ are liable for criminal conspiracy

'A' SR B SRS veAH @ o gl 8

'A' and 'B’ are not liable because there was no criminal act done

'A' 3R B TRl T8 € Tife ®g sifee g JE fEar T

‘A" and 'B' are liable only when some criminal act is done in pursuance of
agreement

'A'SR B I Sl € U9 BYIR @ SN H BIS ATRIES B fHAr T 8l

None of the three

dFl d 9§ BIE AR
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uestion Label - Multiple Choice Cuestion

Principle — There is a difference between motive and intention. Motive iz not
relevant at the time of determining the guilt. It only becomes relevant at the
time determining pm"liahnlent_

Facts — A with a motive to prevent cow from being slaughtered takes it to his
own house without the consert of its owner.

g — g Ud amwd F oo € §q Sibar & MR % §9y 9rEie T8 €1 98

qe — 3 Ueh A & 99 B W g9 & (o IHP HAlcld & WEHld @ (91 T

Options:
A is not guilty of any offence

1&Ww1ﬂ?ﬂﬁa€r€



A is guilty of offence of theft and motive will not help him from being
convicted

H ANl B JUNE BT SN B AR e 9o Ml g BH W g H Heg A6
Eaall

A is guilty of offence of the theft and motive will help in reducing the
quantum of punishment
A AN P AN BT S 2| FR FG TS B AT H HH HYE @ o Hog

IR

None of the three

4#@[. i1 4 9 @I AR
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Cuesticon Label : Multiple Choice Question

The "Right to Information" (RTI) iz a:
Gl @ AFHR (FRoCo3TZ0) & Teh -
Options:

Constitutional Right

iETHE SfEBR

1

Legal Right
= IGIEE IR I CAR

Fundamental Right
5 I PR

Contractural Right
i HiaaTe s ATBR
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Cuestion Label : Multiple Choice Question

'X' agrees to pay Rs. 25,000 to 'C' if it Trains, and 'C' promises to pay a like
amount to "X if it does not rain. This agreement is called :
X' ¥eqd Biar € 'C' T 25,000 Yo o @ fou afg 9iker B € 3R 98T g=wfE 'O

o @ o 9 a1 € Ife 9ier 5 g8 Of | U9 SRR @I $Ed ©

Options:



Quasi contract
Hieadre] HiEg]

letingent contract
SRS Hidg]

Wagering agreement

Voidable contract

I R Cl i g

4.
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Cuestion Label @ Multiple Choice Question

The maxim 'Res Ipsa Logquitor’ means :
i fa C =4
qldd V& ST ofledicy’ @l dicdd g ¢

[

Options:
In law there is a remedy for every wrong
gh APy @ forg fafg § Sueaw &

1

The aim of law is to seek justice

Facts speak for themselves
5 HEAN W dierdl 8

Justice iz blind

, 3T BT 8
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Juestion Label - Multiple CThoice Cuestion

The rule of evidence which forbids a person from denving the truth of some
ztatement fnrmerly made by him is:

e fafy &1 frm o &feg 1 ud F @3 799U @ W B A B 9
fraferg wvar 2
Options:




Estoppel
RCECE

Estray

2 T9HI

Et seq
=3 e HHAl

Estreat
4 % TUS
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Cuestion Label - Multiple Choice Cuestion

Sometimes, an accused seeks pardon from the court and offers to give evidence
against all others involved in a crime. He is called :

S-S AR e W e w1 AT YAl @ AR I, o S H afEferd g

& faog HEg o9 ®1 TKE &l 2 | 39 Hel ol 2

Options:
Witnezs
. Tt

Clone
o ¢

Approver

FRE #l

BL

Informer

, Jae
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Juestion Label - Multiple Choice Cuestion

Which of the following legislation regulates electronic commerce ?
M= H ¥ ®F soldcii-a anuegd] &) A &9 & faurad € °
Options:

Copvright Act, 1957

HIUNIEE SAA-TH, 1957

1



Trade Marks Act, 1999
TS A AfEHaE, 1999

Contract Act, 15372
Hiaer fgfagH, 1872

Information Technology Act, 2000
AT TehAreh AfEaE, 2000
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Couesticon Label ;- Multiple Choice Question

‘Actus fmr:_,l‘}m'f rewom, 1wisi mens sit rea’ is a fundamental principle of -
T 19 B V95 R &7 e Rar o 99 s 8
Options:
Civil liability
| HdER T &1

Criminal liability

Contractual liability
gfdereas giiac @1

3

Environmental liability

TR BT &1

4
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Cuestion Label - Multiple Choice Question

The famous M' Naughten Rules determine :
uaE Haared fMerg My & 2

Options:
Insanity as defence

ESREFIGRCIRCEIE

1

Law of sea

, W fafl



Distinction between hurt and grievous hurt
. SUslg Ud °HN Susfa d =

Established reasoning in criminal cases

4 ATIRTTE HTHE § =g ad
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Juestion Label : Multiple Choice Question

Sometimes a person himself does not comumit an offence; he helps or aids
another person. He is then guilty of :

FA—Hd fd WU AN e B, 98 GAN DI WAl AYAT IS Pl 2| @
Options:

Abetment

TR T

Conspiracy
Y543 W

Attempt

Support
T F
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Cuestion Label - Multiple Choice Cuestion
Burden of proof in anyv criminal case lies on the :

HURTES HTHE | Hgd &1 9N BT 8 ¢

Options:
Accused

la?ﬂ'[lfl"}ﬂﬁﬂ?

Prozecution

L
AT Uv
z.



Victim
2 Yifsd JedhN UY

Lawyer

oo o
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Cuestion Label | Multiple Choice Guestion

Which nation has reiterated its support for India's permanent seat in reformed
UN Security Council ?

fefefag 3 | {59 29 9 6y W e aivag H 9WNd @ R @ o

Options:
Us

| To THo

Russia

E.W

Japan

w1l || T

3

France

4,
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Cuestion Label : Multiple Choice Guestion
When was National Immunisation Day 2019 observed in India ?

2019 ¥ ety wiaeerT Gag feg 6= #=mar 1ar ?

Options:
9th March
g :
i Hi
10th March
10 T
£



11th March
il AT

12th March

12 9
4.
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uestion Label - Multiple Choice Cuestion
Who has been appointed as the new Prime Minister of the state of Palestine ?

fbfeTeil @1 =a1 yams=r foy Agaa fhar Tar g 7

Options:
Mohammad Shtayyveh
AleHe WRE

Mohammad Abbas
- HTEHE &y

Mohammad Mustata
= Fefaa e TEIPI

Ziad-Abu-Amr
fTaTE 39 99
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Question Label : Multiple Choice Question
President Ram Nath Kovind conferred the Padam Shri 2019 on which of the
following perzonality ?
fF=ferfaT 4 @ fow foufa &1 gl YEA1er $ifde 9 2019 § Ug8 S &1 99
ﬁ.’ﬂT g
Options:
Nambi Narayan
| T AR

Bachendri Pal



Tegjan Bai
5 - q'l_.“;r

Gautam Gambhir
4 FiTeE TR
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Cuestion Label - Multiple Choice Cuestion

The Supreme Court has approved to form mediation panel to resolve Ram
Temple-Babri Masjid dispute case. The mediation proceedings are scheduled to
take place in which eity ?

Hated AT 7 W9 dfev-ared] e f[Jare & 99 @ AU O Jerer |t
@7 oA Thar 2 | Hegere @1 "ishar e weR F 2 AidEd g8 2 ?

Options:
Pravagraj

1I-'i: SN

Faizabad
ahy
ThATd g

Varanasi

GIETL

Lucknow
ol4gd-h
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Cuestion Label ; Multiple Choice Question

Marayoor jaggery, a world-famous delicacy, got a Geographical indication (GI)
tag recently. It belongs to which state ?

ARER e o U6 favauigg Udhard 2 [y g1 81 9 4miferd dads Har & 69

2|
-

Options:

Karnataka

oo gr

e



Kerala
= BT

Tamil Nadu

=

1 r EX
3 3

QOdisha

4 A=d
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Cuestion Label : Multiple Choice Guestion

US has decided to end the designation of India and which nation as beneficiary
developing countries under the GSP programme ?

senr = fAvTy forar & fF vRg iR @ 3R 291 1 e e Hlo &1d%H & 3id
fapTaeiiel <% & U A UgHAH WA BN [Ga1 WY | 59N 99 B § 7

Options:
Turkey

GEAl

.

Afghanistan

SR -':| r s 1k

Israel
N

Bangladesh

AR E R

4.
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Cuestion Label - Multiple Choice Cuestion

The provision for promotion of international peace and security exists in the :
FNISE I Wi Gad GRe & S & [ urag 2

Options:
Preamble of the constitution
Hfaa= @ 9w Taar 9

1.



Fundamental rights

, I SEPRT A

Fundamental duties

8.

z 4 Pl 4

Directive principles of state policy

4mTﬁTﬁ"ﬁ?‘Erfﬂﬁf‘rﬁ
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

The commission which rejected the linguistic basis of reorganization of states :

a8 TR FAE AT AU W T @ Qe B S [l

Options:

Dhar Commission
| R AT A

Fazel Ali Conunission
5 PO 3l AT |

Cabinet Miszion Plan
2 Eﬁ-ﬂ;\c ﬁI]EI S| ™ '_‘f

Simon Conumission

4, TS TR S

Question Number : 80 Question Id : 5431078007 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Who of the following won Formula One Australian Grand Prix 2019 ?
freferfaa # | faras 2019 &1 sifegfags ¥ fIaq wiHar a9 § o sifdd &1 7

Options:

Max Verstappen

Lewis Hamilton
oIfdd 2ffce

z.



Kimi Raikonen
= rI & Fﬁl T E'.Er}:.: -_-|~ -

Valtteri Bottas
4 £ x l ] =N

Question Number : 81 Question Id : 5431078008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following nations won the Sultan Azlan Shah Cup 2019
fereferiae 5§ | fod <21 9 2019 & Yoo Sefel= 08 UG i) ©

Options:

Malay=ia

i<l

India

il

South Korea
FELIRGAIES

Canada

o

i R

Question Number : 82 Question Id : 5431078009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Ace Against Odds'is an Ellltﬂbiﬂgl‘ﬂph‘_‘f of which sports person ?

Options:

Vishwanathan Anand
g gREE A1

1

Sania Mirza

5 T ot

Abhinav Bindra



Anjali Bhagwat
i Hnolell AT

Question Number : 83 Question Id : 5431078010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Whao won Indian Open Badminton Men's Singles Championship 2019 :
frae 2019 & goUT @1 AT A0 defFed gfaarTar S ?

Options:
Viktor Axelsen (Denmark)
, Taeey ToieE (S7H)

P. Kashyvap (India)
. Ulo TIg9 (MRa)

Srikanth Kadambi (India)
SThT~ el (A1)

Lee Yang (China)

Question Number : 84 Question Id : 5431078011 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Question

Which among the following alkane has largely replaced the ozone layer-
depleting halomethanes in household refrigerators and freezers ?

HfeiEad § 9 g Tohd o fbolkey Ud el # 3Tl UNd &0 &9 ard

Options:
Methane

, T

Propane

z.

Butane

o e



Ethane

4, B

Question Number : 85 Question Id : 5431078012 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

In which of the following state of India located a tiger reserve, which is also a
World Heritage Site ?

Fefofgag 8 9 fPg g g § U o RAd 8 &1 v favg epmee 1 28 7
Options:

Rajasthan

CIGES2 I

1.

Assam
HIH

Madhya Pradesh
5 HEO UQE

Karnataka
0 ~_-|'.| cop

Question Number : 86 Question Id : 5431078013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is a work of Kalhana ?
= H W ® Hesd @ @ § 7

Options:

Vikramankdevcharita

CELICECEILG!

1.

Rajtarangini

o o eI EAER IR

Mudrarakshash
o JETOE

Abhigvansakuntlam
AT T




Question Number : 87 Question Id : 5431078014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The blood leaving the tissues becomes richer in :
HIB! U A ard G § {HEHST arged B Wl €

Options:
Carbon dioxide

1 Pled SESIETIEE

Water

Sl

Heamoglobin

Y =
)

0= *

Oxygen

4 AT

Question Number : 88 Question Id : 5431078015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which one of the following kinds of organims causes malaria ?
frfafag § & f5g ofig © FNoT Jeiar 8iar 8 7
Options:
Bacterium

:thgus
h !'.I L
oy

Protozoan

. .
Z [l

Virus

Question Number : 89 Question Id : 5431078016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question



Which of the following diseases is not caused by viruses ?
fteriad § 9 & 41 arEnd fqum] @ 7 Bl ?
Options:

Cholera

ﬁ—_,,l—rl-._ e
1 bR 8 R '\F'""l.-'

Chickenpox

Hepatitis

i | _,“:1.

Measlesz

4.%@

Question Number : 90 Question Id : 5431078017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Guestion
The toxicity of which of the following heavy metals leads to liver cirrhosis ?
frefefaa # | frg w18 arg @1 fawredar foar e &1 SR 8l 2 7
Options:

Copper

Mercury
3. CiAY

Zinc
4. :

Question Number : 91 Question Id : 5431078018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following statements about Ozone laver is incorrect ?
A W W fagg ¥ fefofag sl 8 9 o9 Tag 2
Options:




Ozone layer is found between about 16 and 43 km above the Earth's surface
ATAN &N SRIGd 9 T 16 U4 48 5 & 920 fear 2

The ozone is an air pollutant near ground that damages human health.
ERIAA @ U AWM U Jgud & Wl J19 @y &l JHar dedndl ¢ |

Stratospheric ozone protects life on the Earth from the harmful effects of
ultraviolet rays.

GHATHSO A AT Sfecrardeic [l & BM-edhe Jqdl 9 gl uR Wi @l
TETT T © |

Above 90% of the ozone in the Earth's atmosphere is tound in tropozphere.
qed] @ argHSe H AT @1 ATHT 90% SrHed § Ul offdl ¢ |

Question Number : 92 Question Id : 5431078019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which of the following definitions of 'Biodiversity Hotspot' is the most
appropriate ?
Satafaed sTewre ®1 Frfeigd uREmel 3 9§ S Haiae Sugad 8 7
Options:
A biogeographic region
| U@ SIgHATIiTS ST

A biogeographic region with signiticant levels of biodiversity
WafafqedT aIged gad Ush Wlaurlifers gay

A biogeographic region with significant levels of biodiversity that is
threatened with destruction
SiAffaedT 9iged Yo U SlauiIlieid a9 ol fa=mer § yarad =,

A region of diverse ecosystems

4_ﬁﬁ@1qﬂﬁ@ﬂﬁ?ﬁﬁwwm

Question Number : 93 Question Id : 5431078020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Central Institute of Indian Languages is located at ?
el RG99 SR $el e g 7

Options:



Bangalore

e it

1 CRIIE

Mysore

2 T

Bhopal
3 TaTe

Lucknow
CECEIes

Question Number : 94 Question Id : 5431078021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Ancient Bhima Devi Temple is located in which state ?
g T <47 "few forg woa 7 e 8 7
Options:

Rajasthan

MIEESIn

1

Himachal Pradesh

Haryana

Punjab

Question Number : 95 Question Id : 5431078022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Black Pagoda' is located in which state ?

w=d grer e v i feg e v

Options:
Tamil Nadu

Cl

1, SRS



Kerala

1

o @NT]

Orissza

iE=Es!
= :

Andhra Pradesh
xﬂTﬁ- q :. o)

Question Number : 96 Question Id : 5431078023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label - Multiple Choice Guestion
Service tax was introduced in India on the recommendation of -
YN H ¥a1 B g |iAaRT o1 egeer ) g, e T ?
Options:
Kelkar Committee

ht e
1 dhofdpd HIHII

Dr. Raja | Challiah Conunittee
o Sfo IS of dferm |

Dr. Man Mohan Singh Committee

Dr. Yashwant Sinha Committee

4E‘rmr—ﬂﬁ?¥_-rﬁtﬁr

Question Number : 97 Question Id : 5431078024 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

First five year plan of India was based on the :
Options:

Harrod Domar model
| BYIS - SN Y

Mahalanobis model
. TETeIaY Uy




Dada Bhai Nauroji model
SIS SRSl WTEY

3

J. L. Nehru model

” Tlo Telo S8% UTHY

Question Number : 98 Question Id : 5431078025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

BASEL NORMES are related to the -
ad Argve ey Hefgg g ?

Options:
Insurance sector

| ST &

Tele commmunication

Real estate
IGY =1yl {T’é*'-“’l *Efil'l;'

Banking sector
: .i-r:r.; - m

Question Number : 99 Question Id : 5431078026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

REBI increases the rate of interest in the situation of :
3MNo dlo 3Ee ey gRfRerfa # &ra sX dgrar & 7
Options:

Higher inflation

Al YaT Ehifa B g A

Lower inflation
=1 goT FpIfd 31 a9 A

In the pressure of commercial banks
TGS S&1 & Sad o




MNone of the three
o W

Question Number : 100 Question Id : 5431078027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

2018 Asian Games was held at :
2018 T TRMTE @el &8l g7 o ?
Options:

Indonesia

-\Ef\'ﬁ""-g‘-]

Thailand
T

Singapore

b B L2 B

Maldives

S G

4.

Sub-Section Number: 2
Sub-Section Id: 543107141
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5431078028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

If Z =52 and ACT = 43, then BAT will be equal to:
af§ Z =52 Ud ACT =48, 79 BAT WA EF:
Options:

L 2

5 4l

5 4

46



Question Number : 102 Question Id : 5431078029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Find the missing number 1,4, 9, 16, 25, 36, 49, (.._..)
ks T HI S0 BIhav 1,4, 9, 16, 25, 36,49, (...

Options:
o4

Question Number : 103 Question Id : 5431078030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Complete the series 20, 19, 17, ..., 10, 5.
sforr 20, 19, 17, ..., 10, 5 @1 QX1 SIfIg |
Options:

{ 15

5 le

13
>,

14
4,

Question Number : 104 Question Id : 5431078031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Lakel : Multiple Choice Guestion
Choose the missing term out of the given alternatives.
R T faedl # ¥ g Ug @7 gRT
US5PLG,?
Options:
B

1.



Question Number : 105 Question Id : 5431078032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Ina famjl}', there are six members A, B, C, D, E and F; A and B are a married
couple. A being the male member. D is the only son of C, who is the brother of
A_E is the sister of D. B is the daughter-in-law of F, whose husband has died.
How is E related to C ?
U UGN H ®2 "W A, B, C, D, EUd F 2| A Ud B f9aif2q =i €1 A g%9
MEW 8, DCH UHAH I8 ST AGTHE €l ED @1 987 2| B F &l 954 2
Foresl Ui A% Tl €| E &1 C | o1 §ae & 7
Options:

Sister

S aka

1.

Daughter

o I

Cousin
L i
3, eRIHIR

1"1{:::’[1191'
4 HI

Question Number : 106 Question Id : 5431078033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple Choice Cuestion
Find the missing term :

o U5 Bl S Bifery

6,12, .71, 748

Options:

N 33

530



Question Number : 107 Question Id : 5431078034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Find the oo Issing term :
2.9.28 7. 126,217, 344

Options:
IS
1 20

63

Question Number : 108 Question Id : 5431078035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Cattle - herd : : sheep : ?

-

?93:%‘:-'%::?3!75:'!’

Options:
Flock

. B7O

Swwarmnt
o TR

Shoal

3. WE

Question Number : 109 Question Id : 5431078036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Botany : p]:mts - . Entomology : 7

gfa fas= - U - #ie fage o ?

Options:
Inzects
., PR
Birds=s
IR
2. ’
Germs
3 l..J—. Sl L1
Snakes
Y l

Question Number : 110 Question Id : 5431078037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Choose the odd one out :
CEE NG BT L

Options:
Bat

Crow

Pigeon

e %

G =1

Parrot

iy s

Question Number : 111 Question Id : 5431078038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



If HEALTH is written as GSKZDG, then how will NORTH be written ?

afe HEALTH &7 GSKZDG & w4 # formgr oiiar & o NORTH &7 &4 forar
Options:

. OPsSUL

GSONM
FRLMD

4 HIHNDB

Question Number : 112 Question Id : 5431078039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Five children take part in a tournament. Each one has to play every other one.
How many games must they play ?
i 5, 3 [ 3 NN —":‘«-- by, 3 % 3 5 . 5 Ao e 4 .
qid &od Uh GAHe H AP od & | Udd &l Uh gy J oAl vl 3¢ [bod 9@d
HeT dey ¢
Options:
5

1.

Question Number : 113 Question 1d : 5431078040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The age of a father is twice that of the elder zon. Ten yvears hence the age of the
tather will be three times that of the younger son. If the difference of ages of the
two sons is 15 years, the age of the father is :

fOeT @1 SH 9€ U3 ¥ S0 2| 3 9 10 99 9© [Odr #1 9y Bic UH © SH b

i I BFT | Ot S O @ 98 F ot 15 a¥ @ 8 a1 fuar @1 59 2 -

Options:



o
Loy |
LA

TEeArs

60 yvears
5 60 T

/0 years
70 a4

20 years
50 T

Question Number : 114 Question Id : 5431078041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Manik is fourteeth from the right end in a row of 40 boys. What is his position
from lett end ?
qi® 40 S®l & Uldg 4 578 W 9 diggd ®IF W B 91 Y 9 3961 ®™E

Options:
241‘11
24af

1.
75th
25dT

2.
zbth

2 264t
27t
27l

4.

Question Number : 115 Question Id : 5431078042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A and B are married couple. X and Y are brother. X is brother of A. How is Y
related to B ?
AT BaRacaRIZIX WY E I X A ST HE €1 Y 9T B 9 T Ha9

= 7
o




Options:
Brother
1, =

Cousin
o i

MNone

Brother in law
4, l

Question Number : 116 Question Id : 5431078043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The total number of digits used in numbering the pages of a book having 366
pages :
366 T GTel foeig & U1 & HHfG © Y bl DI Bl HET ©

Options:

1 990

> 1098
z 1305

4 732

Question Number : 117 Question Id : 5431078044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which two signs should be changed to make this statement correct ?
fep= 21 Hebdl Bl 59 HUF B Gl Fe- & (o0 g2 JHT afay ?
53+ 3xB8—12=4=3

Options:
+ and —

—and =

2_—:3‘11?;,



+ and x
2 + 3 %

+ and =
4.+\- l“\T

Question Number : 118 Question Id : 5431078045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

If the following words are arranged in an alphabetical order, which word will
appear at the end ?
afe = wesl &1 auiEren HH d Iafierd f&ar oar € df afg d se—ar fodEs
Options:

Olympic

1 HATAR

Olympia

o :‘-IN{ ‘._"‘-!:ﬂ]

Oval

Question Number : 119 Question Id : 5431078046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

How many pairs of letters are there in the word 'CREATE' which have as many
letters betwveen them in the word as in the alphabet ?

91eg 'CREATE' § 3R @ ooy e g o g § 9@ 919 9o+ 81 38 & o4l
Options:
1

1.

[
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Correct Marks: 3 WrongMarks: 1

Cmestion Label : Multiple Choice Question
Which of the following is a leap yvear ?
= H W &4 o9 a9 & :

Options:

Question Number : 121 Question Id : 5431078048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Read the information given below and answer the questions that tollow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is
twice the age of Lata.

S fed T EET BT UfeT R WeHl BT SN qieig Wl e 2 |

[y

=TT, JigHr, VoA, S Ud Sl Uihi Oy 9E-g89 § | 3 Jiedr | /6 99 $ 2 |
U HIGAT & 9Y & AT 2 | Sl S @ SY &I A & T Ao ol & 9F @ Sl
Y Bl E |

What is the voungest ?
P TG FHIE FTE 7

Options:
Deepti

l_F:'-l-ﬁ;:E

Rajan

> ol



Lata
old
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Read the information given below and answer the questions that tollow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is
twice the age of Lata.

S &3 T I B ufey 9 W 1 SR Sy o e 3

ST, AIEH, 9, S U9 Sl 9iE 9Oy WiE-ged £ | AT #leA 9 SR 98 @ 2|
oA AGAT & TF @1 AT 2 | Sl s @& SF &1 A § 9T oA o & 94 @ SRl
35 T2 |

Who is the eldest ?

Options:
Deepti

Lata
e

Anita

eIl

Rajan

Question Number : 123 Question Id : 5431078050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



Read the information given below and answer the questions that tollow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima. Anita iz half the age of Deepti and Rajan is
twice the age of Lata.

H1 fedr T4 QI B uigU 91 ULHl 1 9T Sy @l fead 2 |

WGl HiEH & BF BT AT 8 | Il S & T $I I T T U &l b 9 Bl Gl
EERIR

Which of the following pair of persons are of the same age ?

=1 =afaeral @1 SH—H1 Sirel (P 8 9F &I ¢

Options:
Mahima and Lata
qf29T Ud ol

Anita and Mahima
I Ug "HigH

Mahima and Rajan
5 HEET Ud o

None

Question Number : 124 Question Id : 5431078051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Read the information given below and answer the questions that tollow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is
twice the age of Lata.

Hra1 f&d T4 a7 Uiy @R el &1 9% Sivg @1 Had ©

T, JiEH1, Vo, A Ud Sl Ui ey HE-g89 2 | I JieA 9 a0 98 # 2 |
o AiEH & 9F @ AR © | ST S § S B ST 8 T Ao &l B SH DI ARl
39 & 2|

Anita is younger than :

AT BIET



Options:
Rajan

1. X ¥

Mahima

o e |

Deepti
e f d _ﬁ

None of three

, T A

Question Number : 125 Question Id : 5431078052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Read the information given below and answer the questions that tollow.

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as old as
Mahima. Rajan is half the age of Mahima. Anita is half the age of Deepti and Rajan is
twice the age of Lata.

=T 31 T G BT UGy AT YT BT SN aifay Wl (HEad §

UG ARH & T BT ST S | I S & SH B I E qA A9 Al b 9F DI SFA
FH P E |

If Mahima is 16 vears old, then what is the age of Lata ?

afe afew @1 99 16 a9 &, 9 oal & ®N IH £ 7

Options:
4 vears

1.43‘3

vears



14 vears

i 14 99

Question Number : 126 Question Id : 5431078053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label ; Multiple Choice GQuestion

What is the monthlv salaryv of Prashant ?

P26 e s s e s e 2 | =

(I} Prashant gets 15% more than Sumit while sumit gets less than Lokesh

meid W W 15% @fEe gre wear 2| wafd giad e 9 10% w5 gre
BT |

(II) Lokesh's monthly salarv is Rs. 2500.
ATheT 1 AE® aa9 wo 2500 = |
Options:
It the data in statement I alone are sutficient to answer the question, while the data
in statement II alone are not sutticient to ansiwver the question ;
afe wer 1A affder ddol W &1 SON o & oY e 7 wafl wue IH s
;e W B ST o1 @ foy vaie el E |

If the data in statement II alone are sufficient to answer the question, while the
data in statement [ alone are not sutficient to answer the guestion ;

Oy mee I H 37T 3bel W9 § 9% oF @& [0 90 8 W&t wEe 1 # aTesT
Al WIH W ST 5 @ e v 98 g |

2.
It the data given in both statement I and II together are not sufficient to answer the
gquestion; and
afe g7 werel 1 oug 1§ @ e siheT Uh i 09 6 9oy 59 @ fon gee et
5 T TE
It the data in both statements I and II together are necessary to answer the
question.
" ofy s S 1 og I H aifer Ud W1 999 & 999 o & (67 amgead |

Question Number : 127 Question 1d : 5431078054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion



How many pages of book X did Robert read on Sundav ?
13 s 2 T e B o 3 [ | e 1 e )
(I} The book has 300 pages out of which two-thirds were read by him before
Sunday.
gwad & 300 71 & e o s—-feg sud g Aaan @ gEel g T =9v |
(II) Robert read the last 40 pages of the book on the mormning of Monday.
VaE WHAW @ 9 ETel H§OqEd @ ostad 40 9= agr |
Options:
If the data in statement I alone are sufficient to answer the question, while the data
in statement II alone are not sutficient to answer the guestion ;
afe wer 1 alfdeT Adiel W @ 90% o & o qune & wafe was 0A aTes
| el (i e ) e e e M O T L e 8 s s =

It the data in statement II alone are sufficient to answer the question, while the
data in statement I alone are not sutficient to answer the guestion ;

Ofg wue I # ATHer el W9 ® 9o o & [0 vl 8 wafh g 1§ STeeT
el WIS T BT o4 % @0 gare [ F

2.
If the data given in both statement I and II together are not sutficient to answer the
gquestion; and
Otz == w1 wg 1§ B T2 siiesT U9 o1 099 & 907 &9 & o A =8t
5. g

3 SRR
If the data in both statements I and II together are necessaryv to answer the
question.

” afg g7 ferl 1 o ILH affde] UF 919 99§ S8 69 & oy S7aed & |

Question Number : 128 Question Id : 5431078055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

How many visitors saw the exhibition vesterdav ?
1 £ b ) = 3 s s s W = =1
(I) Each entry pass holder can take up to three persons with him /her.
U WS U EE S0 W oA A T ol W 2 |
(II) In all, 243 passes were sold vesterdayv.
del 243 "I e a= ] T ey |
Options:
If the data in statement I alone are sutficient to answer the question, while the data
in statement II alone are not sutficient to answer the question ;
afd w1 | aifder el W99 ] 9OY o1 @ o gAe 8 wafs wee IH simeT
| el (L s ) e e e M O T L e s s =



It the data in statement II alone are sufficient to answer the question, while the
data in statement I alone are not sutficient to answer the guestion ;

Ofe wer I § aMder o/l W9 ® 90 oF @& [0 e 8 wath w9 1§ STeeT
= T e e 1 M A M 0 T L 3 e B i

2.
If the data given in both statement I and II together are not sufficient to answer the
gquestion; and
afe s At Ioud A & e siibeT o o a9 67 9o a9 & fonr wara =
Z SRR
It the data in both statements I and II together are necessary to answer the
question.
" afe s Tl 1 ug I H Tes] Uh W19 999 % 909 89 & fo anaws |

Question Number : 129 Question 1d : 5431078056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuesticon Label : Multiple Choice Question

How many doctors are practicing in this town ?
fihd Moy o0 & Hyfdeca aw w2 7

(I} There is one doctor per seven hundred resisdents.
ofer o o Hafaar § e S §
(II} There are 1o wards with each ward having as manv doctors as the number
of wards.
16 918 B Uciw 918 # 9o SaeY § o dars @ 9= g |
Options:
If the data in statement I alone are sufficient to answer the question, while the data
in statement II alone are not sutficient to answer the guestion ;
£ Gl 1 ) 5 | s R [ T L s B 7 s s o N T L 2 S =4 £ e O A W 1 5 oA
| el e B SR o ® foy vaie =6l ¥ |

It the data in statement II alone are sufficient to answer the question, while the
data in statement I alone are not sufficient to answer the question ;

Ofg wue I # ATHer el W9 ® 9o o & [0 vl 8 wafh g 1§ STeeT
3 T O e M 1 B v e o O e L 2 e B Fa -

If the data given in both statement I and II together are not sutficient to answer the
gquestion; and
afey g7 et 1oud I H f&en 7 sitmer uh wre a9 &1 9oY 69 @ feny g\

3 WS



If the data in both statements I and II together are necessary to answer the
question.

4 £ E=et o = e 0 et B s 2 e = W e o B O o LS e

Question Number : 130 Question Id : 5431078057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Rajan and Madan start from a conunon point and walk straight in the opposite
directions. What will be the distance betiveen them at the expirv of three
hours ?

B B R o B T B I e e B | R e s R a2 i R < T A B 1
[ 1 | e - e 1 4
(I} Rajan and Madan walk at the speeds of 4 km/hr and 6 km/hr respectively.
A U " AT 4 e /e vd 6 faEsEer w5 O | g9ed 2
(II) Madan walks one and half times faster than Rajan.
B B e 1 e ) e o s B o
Options:
It the data in statement I alone are sutficient to answver the question, while the data
in statement II alone are not sutticient to answer the gquestion ;
afa w1 H aiiwer Aol FEF 7 9OY o4 & o wAre 8 Wafh wed IH aiee
1 MThel MY T 9O o & o qorey J8 ®

It the data in statement II alone are sufficient to answer the question, while the
data in statement I alone are not sufficient to answer the question ;

af w0 aTeher el W9 @ 90N o9 @ [0 qAie 8 wafh g9 1 H aiweT
7 O e 1) s e el 0 s L 3 e s =

2.
If the data given in both statement I and II together are not sufficient to answer the
guestion; and
afe =7 wert Toud IO A fRor e sfiwer v e goe &7 9o 5 @ fony gare
% g

3 BT
If the data in both statements I and II together are necessary to answer the
gquestion.

, afg 97 Tl 1 ug I H Siws] Uh W19 999 & 909 o9 & [y Snassd & |

Section II English Language Test

Section Id : 543107112
Section Number : 2

Section type: Online
Mandatory or Optional: Optiona

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 60

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 543107142
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 5431078058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word nearest in meaning to the given word

Genesis :

Options:

. Beginning
> Movement

Relevant
=

End
g

Question Number : 132 Question Id : 5431078059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Select the word nearest in meaning to the given word
Nymph :

Options:

] Cheery
Adrvy

z. ;
Fairvy

= ¥

Flinch
4.



Question Number : 133 Question Id : 5431078060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word nearest in meaning to the given word
Meddle -

Options:

4 Interfere

5 Disregard

5 Overlook

4 Emancipate

Question Number : 134 Question Id ;: 5431078061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word nearest in meaning to the given word
Aromatic :

Options:
Sentimental

Stinking
Amorous

4 Fragrant

Question Number : 135 Question Id : 5431078062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Select the word opposite in meaning to the given word
Virtuous :

Options:

] Virulent



Immoral
Insincere

Miserly

Question Number : 136 Question Id : 5431078063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Select the word opposite in meaning to the given word
Hostile -

Options:
i Sudden

& Unfair

5 Friendly

& Costly

Question Number : 137 Question Id : 5431078064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given word :
Amiable :

Options:
] Friendly

4 Agreeable
4 Not agreeable

Amicable

Question Number : 138 Question Id : 5431078065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1



Question Label : Multiple Choice Guestion

Select the word opposite in meaning to the given word
Profusion :

Options:

: Scarcity

Decree
Charade

Brave

Question Number : 139 Question Id : 5431078066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Select the correct meaning of the given idiomatic expression
A blue book :

Options:
] A secret report

5 A gm*ernment repa:lrt
A private report

A personal book
4,

Question Number : 140 Question Id : 5431078067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the correct meaning of the given idiomatic expression
Far and wide :
Options:

1 Local

5 All around



5 In the sky

i Under the earth

Question Number : 141 Question Id : 5431078068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Fill in the blanks with the correct word :

If he ... to me, I will accompany him.

Options:
COmes

5 will come
= will talk

4 came

Question Number : 142 Question Id : 5431078069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Fill in the blanks with the correct word :

When we set out early this morning the sun ..........

Options:

1 shined

5 Was shining

- had set

i has set

Question Number : 143 Question Id : 5431078070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Fill in the blanks with the correct word :

I would not have tolerated his rudeness, ifI ... you.



Options:

1 wWas

AIll

- had been

4 would have heen

Question Number : 144 Question Id : 5431078071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Fill in the blanks with the correct word :

________________ the timely help the patient would have died.
Options:
i In spite of

4 Even after

3 Because of

o Bt tor

Question Number : 145 Question Id : 5431078072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

He inzisted ... accuracy in the project.

Options:

1
1.

o1l
for

about



Question Number : 146 Question Id : 5431078073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition :

We all svmpathisze ... the unfortunate person.

Options:
1 for

> at

3 by

" with

Question Number : 147 Question Id : 5431078074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition :
The matter was referred - the Governor.

Options:

L to

o tor
= trom

by
4 05

Question Number : 148 Question Id : 5431078075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Out of the given alternatives, choose the one which can be substituted
for the given word

A place where money is coined :

Options:

1 Bank



5 ITreasury

Mint
o

o Press

Question Number : 149 Question 1d : 5431078076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cuestion Lateal Multiple Choice Guestion

Out of the given alternatives, choose the one which can be substituted
for the given word

A person who opposes another :

Options:
Soldier

5 Prophet
Fighter

An tngcmjzf

Question Number : 150 Question Id : 5431078077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Out of the given alternatives, choose the one which can be substituted
for the given word

The plants and vegetation of a region :

Options:
Fauna

5 Flora

o Climate

Atmosphere
4 AR



section [1 Hindi Language Test

Section Id : 543107113

Section Number : 3

Section type: Online

Mandatory or Optional: Optiona

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 60

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section |1d: 543107143
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 5431078078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

i W r_h aijﬁH i;“"::" FFT i-*:h*a'-. u_f T\-{ ﬁ':'x_'\:.l-:'\; Iy

Options:

Question Number : 152 Question Id : 5431078079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

faw] Tl @ w9 § Waid fod [fd $ 88 7
Options:
15 ST 1947

26 SIENT 1950

14 faday 1949



. 14 fdas 1950

Question Number : 153 Question Id : 5431078080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

-QE ":lir'_' ] H4- & |-;.H|: I

Options:

'.'L i L o %
1.

< IR IMIEEL
z.

HATEIH T
oF

N = L%

S IR

4,

Question Number : 154 Question Id : 5431078081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

aaql DI e HSTH F BH Y5 5 7

Options:

. BIEUIG

Question Number : 155 Question Id : 5431078082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

s o= BT TIT PIAAT

Options:

1 e | ';_f‘,_!-:r;iz ol




Question Number : 156 Question Id : 5431078083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

TGN @1 Hel 9y fgwe @

Options:
. el + BTN
q_i::_:[ B llL.-I % "-..
z.
U] 4+ 3Ty
=
4 2

Question Number : 157 Question Id : 5431078084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

- &0 U faeeui § W aowd e g
Options:

g,

Question Number : 158 Question Id : 5431078085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question



T 9 T B EREE s gy
Options:

VBTN

2.

Question Number : 159 Question Id : 5431078086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Options:

11’#?.?@

Question Number : 160 Question Id : 5431078087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Options:




Question Number : 161 Question Id : 5431078088 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

TR B facreE T g —

Options:

- [

. HINE

;

Question Number : 162 Question Id : 5431078089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

TBGE | 914 a1l — $9% ol 3i°d 9eg &1 & ¢
Options:
EiGE
g, =
:-;‘i"_l
o
-y FEGIE
3
P \’_\ 3] E]. o
4

Question Number : 163 Question Id : 5431078090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

‘S9N H favary Y@y 9T & fov Wi v B

Options:

B E=r T



2
o _\ o
o
LT
4.

Question Number : 164 Question 1d : 5431078091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Iy BT STbS BT A €

Options:

A9G Al
z.

UdhHI=A Helx]
o4

” SHHY BT

Question Number : 165 Question Id : 5431078092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

TR BT el BFT B Y E

Options:

1 1 A fewrd o

e fegrs =
2. =

. HA A 7 fearEg g

fa<T Adeld &1 9rd

Question Number : 166 Question Id : 5431078093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question
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Options:
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e

1.
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Question Number : 167 Question Id : 5431078094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Question Number : 168 Question Id : 5431078095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
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Question Number : 169 Question Id : 5431078096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
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Question Number : 170 Question Id : 5431078097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
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